
factIP(S)) =2
"

#opower setis also denoted IS.

P(s) =25
↑
set

0 CIS for all S

StIs for all S

Zaim if[P(B)) tenALB.
P(B)

⑭ => ⑨
B

↑
implies

#B
=30,2,51333 P(A7 =90, 13)

A
=

213
(A) =1 (PCA) =2

P(A) P(B) =) ACB = 2

+

Proof(direct)

Suppose PP(B). WTS B.
suppose (A)then(GP(B). WTS
*



⑭
AthenYEB.

sowewisratifyAthene
<EP(B) towork with.

suppose yEA.
2y3?A by det. of

\y3tP(A) by def. ofP(A)

2y3tP(B) by P(A) IP(B) (given)

ytB by def. ofP(B)
ACB by det. of

⑨setlistAmpleawayssee
e <0,1> notsame

<1,07

A =(a, a,
..., an

>

array ofn elfs

Det letA, Bbe sets. The Cartesian Product
- -

AXBis thesetofordered pairs drawn
from A and B in that order.

so AXB =[ <a,b):atAand btB3



&Sa,b,c3 x 90, 13:5 <a,07, ca,p, M(b,07,<b,,7,
<(,03,c),1))

12x1
=

3(x,y): xcR) all joints in12Dplane
Det Forsets, 5" is

SxSxsx... XS
w

u times

&1 is 1X1R

Rd is d-dimensional space

&(A XB1 =1A). (B)

(A), IB/

claimAXCBUC)AAXBOCAc
&A =21,23B =263c =[1,03 <1,b)

=

1b

Ax(BVC) =A x2b, j,03 =21b, 1,12,2b,2D,-
20 3
-

AXB =2(b,2b)
AXC =2 (5, 10, 25, 203

(AXB)U(AxC) =215,23,15,1,2,283



poofwe will prove
Iand I separately,

E:Prove that Ax(BUC)I (AXB)U(AXC).
Thatis, ifyeAX(BUC), men ye (AxBU(AxC).

suppose IEAX(BUC) cart. prod

yt<a,d> whereatA det. of
and dt(BUc)

There are twocases:eitherdCB ordEC.

Case 1:dtB.

y
=(a,d)tA xB. by det. ofx

yBSUCAXC) U only adds etc.
toAXB.


